| TD | $\Lambda \Lambda$ | ICI | 717 | ΓΤΑ | |
|----|-------------------|-----|-----|--------------|----|
| ΙП | Αľ | 121 | VII | 1 I <i>P</i> | ۱L |

To: THE COUNCIL Date: 06/26/23

From: **THE MAYOR**

TRANSMITTED FOR YOUR CONSIDERATION. PLEASE SEE ATTACHED.

(Chris Thompson) for

KAREN BASS Mayor

LOS ANGELES FIRE COMMISSION

BOARD OF FIRE COMMISSIONERS

JIMMIE WOODS-GRAY PRESIDENT

JIMMY H. HARA, M.D VICE PRESIDENT

CORINNE TAPIA BABCOCK DELIA IBARRA REBECCA NINBURG

LETICIA GOMEZ
COMMISSION EXECUTIVE ASSISTANT II

KAREN BASS Mayor

TYLER IZEN
INTERIM INDEPENDENT ASSESSOR

EXECUTIVE OFFICE 200 North Main Street, Suite 1840 Los Angeles, CA 90012

> (213) 978-3838 PHONE (213) 978-3814 FAX

December 21, 2022

Honorable Karen Bass Mayor, City of Los Angeles Room 303, City Hall Attn: Legislative Coordinator

[BFC 22-124] – IN-KIND DONATION OF LOS ANGELES CLIPPERS AND LOS ANGELES LAKERS GAME TICKETS

At its special meeting of December 20, 2022, the Board of Fire Commissioners approved the report and its recommendations. The report is hereby transmitted to the Mayor for consideration and approval. Thereafter, to be forwarded to City Council for approval.

Should you need additional information, please contact the Board of Fire Commissioners' office at 213-978-3838.

Sincerely,

Leticia Gómez

Commission Executive Assistant II

Attachments

cc: Fire Chief Kristin Crowley (via email)

Office of the City Administrative Officer (via email)

December 5, 2022

BOARD OF FIRE COMMISSIONERS FILE NO. 22-124

TO:

Board of Fire Commissioners

FROM: W

Kristin M. Crowley, Fire Chief

SUBJECT:

IN-KIND DONATION OF LOS ANGELES CLIPPERS AND LOS ANGELES

LAKERS GAME TICKETS

FINAL ACTION:

Approved
Denied

Approved w/CorrectionsReceived & Filed

WithdrawnOther

SUMMARY

Mr. Steve Needleman of Anjac Fashion Buildings, a Los Angeles real estate firm, has donated to the Bureau of Administration Los Angeles Clippers and Los Angeles Lakers game tickets valued at \$23,840. Submitted in accordance with the Los Angeles Administrative Code, Article 12, Sections 5.111.3 and 5.111.4, which provides for the receipt of gifts and bequests of personal property to be utilized by the Fire Department, exceeding \$5,000.00 in market value, shall be submitted to the Board of Fire Commissioners for acceptance or rejection.

RECOMMENDATIONS

That the Board:

- 1. Approve this report and accept the In-Kind Donation by Mr. Needleman for the item(s) listed above, valued at \$23,840, to the Los Angeles Fire Department.
- Request the Commission Executive Assistant to transmit this report to City Council in accordance with the Los Angeles Administrative Code, Ordinance 15514, Article 12, Section 5.111.4.

FISCAL IMPACT

There is no fiscal impact on the Department's budget from the acceptance of this donation.

CONCLUSION

The Los Angeles Fire Department benefits tremendously from the gracious donations and support provided by Mr. Needleman. The Community Liaison Office acknowledges Mr. Needleman for his generosity.

Board report prepared by Acting Public Information Director Cheryl Getuiza, Community Liaison Office.

Attachment











DONATION OF LAKERS/CLIPPERS GAMES TO LA CITY FIRE DEPARTMENT

| DATE | TEAM | OPPONENT | ORGANIZATION | # OF TICKETS | PRICE PER TICKET | TOTAL DONATION |
|-------|-------------|------------------------|--------------|--------------|------------------|----------------|
| | | | | | | |
| 10/30 | LA Lakers | Denver Nuggets | LAFIRE01 | 4 | \$ 510.00 | \$ 2,040.00 |
| 11/7 | LA Clippers | Cleveland Cavaliers | LAFIRE02 | 4 | \$ 265.00 | \$ 1,060.00 |
| 11/13 | LA Lakers | Brooklyn Nets | LAFIRE03 | 4 | \$ 645.00 | \$ 2,580.00 |
| 11/19 | LA Clippers | San Antonio Spurs | LAFIRE04 | 4 | \$ 215.00 | \$ 860.00 |
| 11/28 | LA Lakers | Indiana Pacers | LAFIRE05 | 4 | \$ 335.00 | \$ 1,340.00 |
| 12/21 | LA Clippers | Charlotte Hornets | LAFIRE06 | 4 | \$ 265.00 | \$ 1,060.00 |
| 12/23 | LA Lakers | Charlotte Hornets | LAFIRE07 | 4 | \$ 510.00 | \$ 2,040.00 |
| 1/10 | LA Clippers | Dallas Mavericks | LAFIRE08 | 4 | \$ 345.00 | \$ 1,380.00 |
| 1/18 | LA Lakers | Sacramento Kings | LAFIRE09 | 4 | \$ 335.00 | \$ 1,340.00 |
| 2/8 | LA Clippers | Dallas Mavericks | LAFIRE10 | 4 | \$ 345.00 | \$ 1,380.00 |
| 2/23 | LA Lakers | Golden State Warriors | LAFIRE11 | 4 | \$ 745.00 | \$ 2,980.00 |
| 2/28 | LA Clippers | Minnesota Timberwolves | LAFIRE12 | 4 | \$ 295.00 | \$ 1,180.00 |
| 3/3 | LA Lakers | Minnesota Timberwolves | LAFIRE13 | 4 | \$ 325.00 | \$ 1,300.00 |
| 3/8 | LA Clippers | Toronto Raptors | LAFIRE14 | 4 | \$ 265.00 | \$ 1,060.00 |
| 3/17 | LA Lakers | Dallas Mavericks | LAFIRE15 | 4 | \$ 560.00 | \$ 2,240.00 |
| | | | TOTAL DO | \$ 23,840.00 | | |
| | | | | | | |